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PACKING INNER PACKING SIZE | INNER INSIDE CARTON SIZE| pcs / PCS GW
SERIES OR PN CIRCUITS | METHOD | INNER PACKINGNO. ™) PACKING| INSIDE CARTONNO. | (&5)] INSIDE (Y] / REF.
CODE LD w T QTY : L w H| CARTON L w H |CARTON| (KG)
CA3504M100P 4 D PACK-TBC115-C 600 | 112 | 0.78 57, | PACK-IBCO14-C | 61.7 | 6.00 |10.20 | 3420 PACK-CTCO11-C | 63.0 | 150 | 23.0 | 13680
CA3506M100P 6 D _PACK-TBC115-C 60.0 | 112 | 0.78 45 PACK-IBCO14-C | 61.7 | 6,00 [10.20 | 2700 PACK-CTCO11-C | 63.0 | 150 | 23.0 10800
CA3508M100P 8 D PACK-TBC115-C 60.0 | 1.12 | 0.78 38 PACK-IBCO014-C | 61.7 | 6.00 |10.20 | 2280 PACK-CTCO11-C | 63.0 | 150 | 23.0 9120
CA3510M100P 10 D - PACK-TBC115-C 600 | 112 | 078 32 PACK-IBCO14-C | 61.7 | 6.00 [10.20 | 1920 PACK-CTCO011-C | 63.0 | 15.0 | 23.0 7680
CA3512M100P 12 D PACK-TBC115-C 60.0 112 | 0.78 28 PACK-IBC014-C | 61.7 | 6,00 [10.20 1680 PACK-CTC011-C 63.0 | 15.0 23.0 6720
CA3514M100P 14 D PACK-TBC115-C 60.0 1.12 | 0.78 25 PACK-IBC014-C | 61,7 { 6.00 |10.20 1500 PACK-CTCO011-C 63.0 | 15.0 23.0 6000
CA3516M100P 16 D PACK-TBC115-C 60.0 112 | 0.78 22 PACK-IBC014-C | 61.7 | 6.00 [10.20 1320 PACK-CTCO011-C 63.0 | 15.0 23.0 5280
CA3518M100P 18 D PACK-TBC115-C 60.0 1.12 | 0.78 20 PACK-IBC014-C | 61.7 | 6.00 |10.20 | 1200 PACK-CTCO011-C 63.0 | 15.0 23.0 4800
CA3520M100P 20 D PACK-TBC115-C 600 | 112 | 078 19 PACK-IBCO14-C | 61.7 | 6.00 |10.20 | 1140 PACK-CTCOI1-C | 630 | 150 | 23.0 4560
CA3522M100P 22 D PACK-TBC115-C 60.0 | 112 | 0.78 17 PACK-IBCO14-C | 61.7 | 6.00 [10.20 | 1020 PACK-CTCO011-C | 63.0 { 150 | 23.0 4080
CA3524M100P 24 D PACK-TBC115-C 60.0 | 112 | 0.78 16 PACK-IBC014-C | 61,7 | 6.00 |10.20 | 960 PACK-CTCO11-C | 63.0 | 150 | 23.0 3840
CA3526M100P 26 D PACK-TBC115-C 60.0 1.12 | 0.78 157 PACK-IBC014-C | 61.7 | 6.00 |10.20 900 PACK-CTC011-C 63.0 | 15.0 23.0 3600
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